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1HI-S M.Com. (CBCS)DDCE-201(Gr-A-DA.A

2014

Full Marks : 70
Time : As in the programme
Answer guestions according to General. Instruction
of each Section.

(Subject : Advance Accounting)

GENERAL INSTRUCTION

Answer any three questions from Section-A (12x3=36)
Word Limit—700-1000

Answer any three questions from Section-B (8x3=24)

Word Limit-500
Answer any two questions from Section-C (5x2=10)
Word Limit—300 -
SECTION-A
Answer any three, 12%x3=36

1. The following particulars of a company are available:
i) Equity share capital : 10,000 equity shares of
Rs.10 each

ii) Preference share capital : 1000, 12%
Preference shares of Rs.100 each.

iii) Reserve and Surplus : Rs.15,000
iv) External Liabilities : Creditors-Rs.12,000
Bills Payable-Rs.6,000

[Turn over]
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HI-S M.Com.(CBCS)DDCE-202(Gr-A-11)AIS

2014

Full Marks : 50
Time : As in the programme

Answer questions according to General Instruction
of each Section.

(Subject : Accounting Information System)

GENERAL INSTRUCTION
Answer any three questions from Section-A (8x<3=24)
Word Limit-700-1000

Answer any three questions from Section-B (6%3=18)
Word Limit-500
Answer any fwo questions from Section-C (4x2=8)
Word Limit—300

SECTION-A
Answer any three. 8x3=24

.  What is Computerised Accounting? State the
advantages and disadvantages of Computerised
Accounting.

2. What are the features of a good source document
design? What safeguards should be taken to ensure
success before making changes to source
documents?

[Turn over]
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I1-S M.Com.(CBCS)DDCE-203(Gr-A-1III)B.T.

2014

Full Marks : 70
Time : As in the programme

Answer questions according to General Instruction
of each Section.

(Subject : Business Taxation)
SET-1
sENERAL INSTRUCTION
Answer any three questions from Section-A (12x3=36)

Word Limit—700-1000
Answer any three questions from Section-B (8x3=24)
Word Limit—500
Answer any fwo questions from Section-C (5x2=10)
Word Limit-300

SECTION-A
Answer any three. 12%3=36

Discuss the provisions of Income Tax Act-1961
regarding computation of a partnership firm's
business income U/S 185.

2. Centurion Ltd., a domestic company provides you
following Profit and Loss Account for computation
of tax liability for assessment year 2014-15:

[Turn over}
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10.

1.
12.

E3.

14.

What is Minimum Alternate Tax (MAT)? Discuss in

detail provision of Minimum Alternate Tax u/s

115]B.

Compute the tax payable by a company for the

Assessment year 2014-15 if:

a) Itstotal income is Rs.4,00,000 and book profit
is Rs.15,00,000 or

b)  Its total income is Rs.6,20,000 and book profit
is Rs.10,00,000.

Discuss the powers and functions of settlement

commissions.

Discuss the rules relating to assessment of customs

duty with a suitable example.

SECTION-C
Answer any two. 5x2=10

Explain the provision of Advance Payment of Tax.
Explain the importance of Tax Planning for royalties
and technical consultancy.

Explain the provisions for refund of tax under the
[ncome Tax Act-1961.

Discuss the limits on payment of remuneration to

working partners in case of profit as well as loss of
a firm.

1S MCom (CBCSIDDCE203(GRAIBT. [ 4]




II-S M.Com (CBCS)DDCE-204(Gr-B-I) FMI

2014

Full Marks : 70
Time : As in the programme
Answer questions according to General Instruction
of each Section.

(Subject : Financial Market & Institutions)

GENERAL INSTRUCTION
Answer any three questions from Section-A (12x3=36)
Word Limit-700-1000

Answer any three questions from Section-B (8x3=24)
Word Limit—-500

Answer any fwo questions from Section-C (5x2=1()
Word Limit-300

SECTION-A
Answer any three, 12x3=36

Qutline, in brief, the components of Indian Financial
System (IFS). State how development of a country
is dependent upon the development of its financial
system.

2. Discuss the role played by capital market in the
development of Indian economy in last two decades.
Justify, if Indian capital market has come of age.

[Turn over]
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111-S M.Com.(CBCS)DDCE-206(Gr-B-IIDSA & PM

2014

Full Marks : 70
Time : As in the programme
Answer guestions according to General Instruction
of each Section.
(Subject:Security Analysis & Portfolio Management)
GENERAL INSTRUCTION
Answer any three questions from Section-A (12x3=36)
Word Limit-700-1000
Answer any three questions from Section-B (8x3=24)
Word Limit-500
Answer any two questions from Section-C (5x2=10)
Word Limit-300

SECTION-A
Answer any three. 12x3=36

1. "Putting eggs in single basket is risker than putting
eggs in different baskets"— on the view of the above
statement discuss the importance and risk involved
in Portfolio Management. How would you measure
them?

2. Explain the advantages of Sharepe's Portfolio Model
over the Markowitz Portfolio Model.

[Turn over]



[ €1 wamvsim-a10)0z-300aSoar w11

e ——

‘oljojuod 2 Jo wmios paysadxa A ABMIED)

$C0 £t d
€0 LSl J
170 3 5|
$T'0 CLE 4
pawysaauf fo uonsodoid | (o4) uamay | Qrnsag

“SONSLIDIOBIBYD FUIMO[|0) a3

GUIABY SINLNDS ¢ P SALMIISUOD 81 o1jojuod v
XISU3g 4S9

‘A10a ] Suldug adeigry

I2NU01] JUAIP

01=Tx¢ "0M) AUB Jamsuy
I~NOILOIS

"aBueyaxy
201§ [BUONEN 2] U0 SINLINIAS [ENPIAIPUI UO
saumny pue suondo Jo SOUSUIOEIRYD A aqUIsa(]

{201s Jo anfea juasaid ayy ;yenoje)
'%0T JO wmia1 jo el e painbal Ajjeuonipen
JABY S10)SOAU] “I2YB 2I3Y] 946 JO 2181 21 pue
s1eak ¢ 1Xou a1l J2A0 Ju2d1ad § JO 2181 A 1B MoI3

vl
52
Tl
11

[ 21 wawvsin-g20)0z-300a(s080r w0y W S

01 AJax1] a1e Aueduioo 2y jo SPUIpIAIp pue Sumures
1e1]) 152933ns pue €15E22104 ‘Ie2A Juaimo Yl Suump
~/SL°T'SY JO puaplalp e pred Auedwoo a1 v

|IBI9P Ul YI0MIUWR]
OId uie[dxg ;SISA|BUB [BJUSWEPUN] ST 1BYM

"uawadeue)y
o1j0Ju0g Ul 10211 ANHN JO ssaunyasn a wejdxyg

'SSNISI(]—
" JINIAJ PUR YSU U2am1aq JJO-apen si a4y,

PT=Ex8 PIY} AUB Jamsuy
4-NOILLOES

RUEIETNE:EIT
orjojirzod  ayr yum paiedosse  swajqoid
pue spoylow JualgIp [rewsp ul urerdxyg jorjopuod
B 2INSE2W NOA UBd moy ‘Jafeurjy O1[0JU0d B SV

"ANPI[BA JIU) 1891 pue ASUIDIJ2 193IBW JO SULI0)
Juasayip 2 utepdxyg “A2U2101112 19)IBW AUIIA(]

048 A[JU2LMD SI 1SAINUL JO 2)BI
1aIew 2y ] -Aumgew 18 wniwid 9,6 18 [qeaapal
SI puoq 3 ‘AlUniew [nun sieak ¢ sei 1 JJ ‘siuamAed
1S2121u1 [enuue Suiyew 00O [°SH JO anjea 32g]
B 1im puoq uodnod yuaoiad g e Jo uoneinp 2y put]



IM1-S M.Com (CBCS)DDCE-207(Gr-C-1) CB

2014

Full Marks : 70
Time : As in the programme
Answer questions according to General Instruction
of each Section.

(Subject : Consumer Behaviour)

GENERAL INSTRUCTION

Answer any three questions from Section-A (12x3=36)
Word Limit—700-1000
Answer any three questions from Section-B (8x3=24)
Word Limit-500
Answer any two questions from Section-C (5x2=1()
Word Limit-300

SECTION-A
Answer any three. 12%x3=36

l. How are Marketing decision making and study of
consumer behaviour important and what are the
applications of consumer behaviour? [llustrate your
answer with suitable examples.

2. Describe the influence of "Social Class' and 'Social
Stratification' on consumer's life-style
characteristics and buyers behaviour.

[Turn over]
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HI-S M.Com.(CBCS)DDCE-208(Gr-C-II)(A&PM)

2014

Full Marks : 70
Time : As in the programme

Answer questions according to General Instruction
of each Section.

{Subject : Advertising and Promotion Management)
GENERAL INSTRUCTION
Answer any three questions from Section-A (12x3=36)

Word Limit—700-1000
Answer any three questions from Section-B (8x3=24)
Word Limit—500
Answer any fwo questions from Section-C (5x2=10}
Word Limit-300

SECTION-A
Answer any three. 12x3=36

.  What is the socio-economic importance of
Advertisement and do you believe in the saying
"Advertisement" is a "Social Waste"? Outline
advertising management process. '

2. What is importance of Corporate Advertising and
how is it different from other advertisements? What
are the factors and procedures adopted in corporate
advertisement?

[Turn over]
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[11-§ M.Com (CBCS)DDCE-209(Gr-C-1II) S&DM

2014

Full Marks : 70
Time : As in the programme
Answer guestions according to General Instruction
of each Section.

(Subject : Sales and Distribution Management)

GENERAL INSTRUCTION

Answer any three questions from Section-A (12x3=36)
Word Limit-700-1000
Answer any three questions from Section-B (8x3=24)

Word Limit-500
Answer any two questions from Section-C (5%2=10)
Word Limit-300
SECTION-A
Answer any three. 12%3=36

1. What is the role of Sales Management in the success
of a business organisation and what is ils scope?

2. What is the need for Sales Organisation and
differentiate between the basic types of sales
organisation with suitable examples.

3. What is the significance of Sales Force Management
and what are its objectives? State the important
functions undertaken under this.

[Turn over]
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1HI-S M.Com.(CBCS)DDCE-210(Gr-D-I)HRPD

2014

Full Marks : 70
Time : As in the programme

Answer questions according to: Gemneral Instruction
of each Section.

(Subject : Human Resource Planning and Development)
GENERAL INSTRUCTION
Answer any three questions from Section-A (12x3=36)

Word Limit—700-1000

Answer any three questions from Section-B (8x3=24)
Word Limit—500

Answer any fwo questions from Section-C (5x2=10)
Word Limit-300

SECTION-A
Answer any three. 12%3=36

I. What is HRIS? What are the objectives levels and
the process of implementation of HRIS?

2. Define HRD. Discuss the HRD matrix and briefly
explain its components.

3. Discuss the scope and approaches to improve QWL.

[Turn overf
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Define Human Resource Planning. Discuss the
objectives and different approach of Human
Resources Planning.

What is Human Resource Audit? What are
Approaches and the methods of HR Audit?

SECTION-B
Answer any three. 8x3=24

Discuss the different types of HRP.

Discuss the OCTAPACE culture of an organization.
What are the importance and type of record keeping?
Briefly discuss the different model of HRD.

Discuss the different roles played by a manager in
an organization.

SECTION-C
Answer any two. §x2=10

What is Career planning? Write down the factors
contribute towards the career planning.
Distinguish between HRM and HRD.

Write a note in HRD climate.

Briefly discuss the objective of HR Accounting.

[N s p————
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111-S M.Com (CBCS)DDCE-211(Gr-D-1I) MER&RL

2014

Full Marks : 70
Time : As in the programme
Answer questions according to General Instruction
of each Section.

(Subject : Managing Employee Relation &
Related Laws)

GENERAL INSTRUCTION
Answer any three questions from Section-A'(12x3=36)
Word Limit-700-1000
Answer any three questions from Section-B (§x3=24)

Word Limit-500
Answer any two questions from Section-C (5%2=10)
Word Limit-300
SECTION-A
Answer any three. 12x3=36

Define Industrial relations. List out the principles
of Industrial relations which promote Industrial
peace.

2. What is the meaning of the term "factory"? Discuss

the measures required to be taken by a factory in
respect of welfare of workers.

{Turn over}
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I1-5 M.Com (CBCS)DDCE-213(P&OM)

2014

Full Marks : 70
Time : As in the programme

Answer questions according to General Instruction
of each Section.

(Subject : Production & Operation Management)

GENERAL INSTRUCTION
Answer any three questions from Section-A (12x%3=36)
Word Limit—700-1000
Answer any three questions from Section-B (8x3=24)
Word Limit-500
Answer any two questions from Section-C (5x2=10)
Word Limit-300

SECTION-A
Answer any three. 12%x3=36

Discuss the importance of plant location. What are
the factors affecting plant location? Discuss.

2. What are the approaches available for make or buy
decision? Explain both the approaches with suitable
example.

3. What do you understand by MRP? Discuss the
various components of material requirement
planning system.

{Turn over]
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1HI-S M.Com.(CBCS)DDCE-212(Gr-D-UNMT&D

2014

Full Marks : 70
Time : As in the programme
Answer questions according to General Instruction
of each Section.
(Subject:Management of Training and Development)

GENERAL INSTRUCTION

Answer any three questions from Section-A (12x3=36)
' " Word Limit=700-1000
Answer any three questions from Section-B (8x3=24)
Word Limit—500
Answer any two questions from Section-C (5x2=10)
Word Limit-300

SECTION-A
Answer any three, 12%3=36

. Define training. Discuss the objective and different
types of training.
2.  Define learning. Explain the principles of learning.
3.  What is the role of need analysis in training? Do
you think that all training programmes are based on
such analysis?
4.  What do you mean by training aid? Explain the
different type of training aid using in an organization.
[Turn over]



5.  Define training calendar. Develop a training calendar
in an organization.

SECTION-B
Answer any three. 8x3=24

6.  Define sensitivity training. Discuss its merits and
demerits.

7.  Who can be a trainer? Discuss the role of a trainer
for conducting effective training programme.

8.  Write down the different model of training.
Briefly explain the training policy in an organization.

10. Explain the advantages of training to the employees
and the organization.

SECTION-C x
Answer any two. 5x2=10

11. Distinguish between education and training.

12.  Write down the different features of pedagogy.

13. 'What are the steps involved in design a successful
training program?

14. Discuss the merit and demerit of Simulations
training method.

e
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11-S M.Com.(CBCS)DDCE-215(BP&SM)

2014

Full Marks : 70
Time : As in the Prn'gramme
Answer questions according to General Instruction
of each Section.
(Subject:Business Policy and Strategic Management)

GENERAL INSTRUCTION

Answer any three questions from Section-A (12x3=36)
Word Limit—700-1000

Answer any three questions from Section-B (8x3=24)
Word Limit-500

Answer any fwo questions from Section-C (5x2=10)
Word Limit-300

SECTION-A
Answer any three. 12x3=36

1.  How multinational environment affects the national
environment? Elaborate the different challenges in
front of MNC's.

2. Analyse the evolution of business policy and
strategic management as a separate discipline.

[Turn over]
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1I-S M.Com.(CBCS)DDCE-214(C&MC)

2014

Full Marks : 70
Time : As in the programme
Answer questions according to General Instruction
of each Section.
(Subject : Cost and Management Control)

GENERAL INSTRUCTION
Answer any three questions from Section-A (12x3=36)
Word Limit—-700-1000
Answer any three questions from Section-B (8x3=24)
Word Limit-500
Answer any fwo questions from Section-C (5x2=10)
Word Limit-300

SECTION-A
Answer any three. 12x3=36

1. The following data are available from the records
of a company:

Sales Rs.60,000
Variable Cost Rs.30,000
Fixed Cost Rs.15,000

[Turn over]
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Production at 60% capacity 600 units

Materials . Rs.100 per unit
| Labour Rs.40 per unit
Direct Expenses Rs.10 per unit

Factory Overheads ’ Rs.40,000 (40% fixed)

Administration Expenses Rs.30,000 (60% fixed)

12,
13.

14,

SECTION-C
Answer any two. 5x2=10

What do you understand by BEP? How is it
calculated?

Distinguish between cost control and cost reduction.

What are the various methods by which you would
split semi-variable cost into fixed and variable
elements?

How cost audit is different from financial audit?
Explain.

e e e
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111-S M.Com. (CBCS)DDCE-216(1.B.)

2014

Full Marks : 70
Time : As in the programme
Answer questions according to General Instruction
af each Section.

(Subject : International Business)

GENERAL INSTRUCTION

Answer any fhree questions from Section-A (12x3=36)
Word Limit-700-1000
Answer any three questions from Section-B (8x3=24)
Word Limit-500
Answer any fwo questions from Section-C (5x2=10)
Word Limit-300

SECTION-A :
Answer any three. 12%3=36

Define International Business (IB). State how
various environments affect the growth and function
of IB. '

2, Outline the role and impact of foreign exchange in

the International Business, State if the nations have

mechanisms to deal with the foreign exchange
menace.

{Turn over]
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